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( ) 1. 12 B0HE 8 XRIBX * TRVXREULBXILEXS 5X » 12 B1D8)
ESNEEIDS e
(A) 8 X (B) 4 X (C) 6K (D) 5 X

B24T : (D) 12 9B 31K » 31-5-8-8=10 10+2=5K

N

( )2. B8R 98 15 BAENLZE > 11 B 1B7 0 @ FEMBEEZDE
&7?
(A)45x (B)46k (C)48k (D)49Xk

BEMT ¢ (C) » 30—15+1=16* 16+31+1=48 &

( )3. B+15=2-8=A X2 » FBIRLLWP ~ & - B=SBIVA/)BER?
(A) Z>B>"  (B) B>Z>A" (C) A>B>4 (D) B>A>C
BT+ (A) » BRIRT\=50" BB=35" £,=58" F=25

( ) 4. EEZBNE 85 IREENE D BIERGFIF gl ~/NE= AT 16 RIFEN -
EHEMER TN ZDIREENRE?
(A) 3518 (B)371#  (C)491R (D) 44 1R

BRHT ¢ (B) * 85—16—16—16=37
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) 5.

©)°

) 6.

(B)°

) 7.

©)°

) 8.

(A)°

).

(C)

Calculate the number of the square and which one

is the best answer?

(A) 10 18 (B) 12 18

(C) 15 & (D) 17 8
Bz : sTEIEOFEH 0 B—ERBEREHRS? 10+2+3=158

EOFBARERIOFEEARE 2 & IEAFANERE 4 17D » RKEDEH
BREZIDAD? (A)227D (B)8AD (C)122%7 (D) 16 A7

AXA-+-2=8 17D

REWOERE 96 A% » REBD—BE |~ XX\
BT RBDND? \_ Y

(A 8D B4nD (C)6nn (D)717D

BiE=2 HFK » RK2=6 B+ 96+2+(2+6)=6

SESN IMC E2EZHMAZE 1512 A » LLEFEDE 108 A » SSME
SINABHEBEZDAN?
(A)2916 A (B)1620 A  (C)1404 A (D) 3116 A

1512-108+1512=3024—-108=2916

Tt~ 7T ~ AHIoiRtEss 6 {8 @ &=/ 100 Tt EB3DE?
(A) 3 1& (B) 4 7& (C)5 7@ (D) 6 &

58 50 | 2 1 1 1
10, 0 | 5 | 4 | 3
5 0] O0 2 | 4|6
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) 10. Which one will be in 70 minutes to 85 minutes range?
(A) 1 hour (B) 1 hour 5 minutes
(C) 1 hour 45 minutes (D) 1 hour 15 minutes

(D) » #8:ZF : W—E71R 70 0% 85 DiERELE?

1\F 15 2=75Di& » OB

Y11, BT 72 80P~ & - R=A B2 128 Rt 12 %8 »
BE3PIEF 2RAE?
A28 (B)3fE (C)418 (D)51E

(B) » 72—12+12=72 > 72+3=24 > 24+12=36’ 24-12=12 > 36 +12=3 &

)12. A~B~C=2> AXB=48> BXC=96 > AXC=72" 55 AXBX C=?
(A)556  (B)566 (C)576 (D) 586

(C) A=6' B=8 C=12> AXBXC=576

) 13. FENSEEWNEE 604 » FFEB 504 HHBEB 48 K » IKIKB
B 36 A 3 ANBPBEBNHBSEEDEIDAR?
(A)14X (B)1l6AXx (C)18 &K (D)20R

(A) * 60—50=10 * 60—48=12 > 60—36=24 * 60—10—12—24=14 K

) 14, RERDF 12 BE > REIET 3 KB RREET 2 K18 » IR 28
i ?
(A) TF 16370 (B) T+ 2065157
(C) M 36F27 (D) FF 36109

(B) * FEETRE 2 KI&=2 /N\bF » RETE 3 K18=15 D&
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12 : 00+2 : 15=14 : 15

) 15. J\EBSKE LIRS 17 750 EABFE » FTFFEEHSIIBS 155
PSR HEIB 3 ZDNADBDEABSI?
(A) 1 AF+ 500 EFF (B) 1 AF 750 EFt
(C) 2 AFF 250 EFt (D) 2 FF 750 EH

(C) » 750+750+750=2250 EF=2 AFt 250 EF

)16, —ERFTEB 182 Bi42eiB B 6 Z2ER ' M THERES
ERFIEZMNCRFENRE? (A5 (B)4 (C)3 (D)2 1B

(D) > 18—4—6=8"8+4=215%

) 17. B TBIRE » BIRNEZEBANAFTES?

1538 (23| |17/31|14| |52|98]|?

(A) 46 (B) 37 (C) 29 (D) 36
(A) » 98—52=46

) 18. ERMMXITE 7 B 5 BOE  tEEERIIRT S 2 B2 - SBRMBIE
B0
(AV68218H (B)68B228 (C)68238 (D)6824H
(B) » 2 [@2Hi=14 X » 14-5=9 30-9+1=22 FTIR 6 B 22 H

) 19. /WIS LSRR =12 > SEIBFNESD?
(A)1998  (B)1999  (C)2000 (D) 2001
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(B) » 1000+999=1999

) 20. BIRBEE 0 B—(EEIBEHER?
(A) FREHAEIEITE (B) IRTTE 2 ¥
(C) BE—XIEmME 225400 (D) REZ22309D

(C) » —%fE=15 D€ » 2 : 30+15=2 : 45

) 21. A+45+6+7+8+ - +14+15="
(A) 114 (B) 124 (C) 134 (D) 104

(A) » 4+15=19° F0R2 19 B 6 #H » 19X 6=114

)22. 1I5@9tL 11192 3? (A)4 (B)18 (C)27 (D) 36

(D)’ 15—-11=4° 23 4 {8 9=36

) 23. BxIBMES FRVERIEMIBIES EHE 124 JT » RILEFEERS E/Y
62 JTCHOAMNIEYE » SESHVERIEE LR IBIE 25T ?
(A)OTT (B)627T (C)1227T (D) 186 7T

(A) » 124—62—62=0 TT

)24. 1 4 @EMBERSMER?
(A) 12 88 (B)14{@R  (C)16 @R (D) 18 @R
(C)' 1F=12 @R » 12+4=16 @R

) 25. Three weeks=__day? (A)7X (B)14x (C)21k (D)28Xk
(C) #EiE : —BER=3DXK " 7x3=21X
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1. B—EEEE0 B - SR=EY) - WAZBIZOEYEELE T » KiEE
= BIRETELEEEESY D BIIZIEZDNTHRY?

=g T 7 17 AT
— LR ol o A
18 _(2 D & G |08

—i8 .(Efg‘ _ngg 25 AfT
B - REEN T+ RS —ENESHRIZT 17 AF -

FIIE 2 IR ER=20-17=3 AFF

% 1 TR/ W9 =25-17=8 AT

18/ )\i=17-8-3=6 fT
=: &Y w8 DT F B 6 DT B 3 AR

2. Let * be a new operator such that 6¢8=6X8-8, 76=7X6—6. According to
the rule » then 14>¢9+15%8+16X7="7
BRAT : 143%9=14Xx9-9=117 >
15%8=15%X8—-8=112
16>%7=16X7-7=105 "
117+112+105=334

= 334
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